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Which of the following cannot be the
probability of an event ?

(A) 0.4 (B) 4%
(C) 0.04% (D) 4
(E) Not attempted

Nominal Gross Domestic Product (GDP) s

(A) Gross Domestic Product (GDP)
evaluated at per capita INncome

Gross Domestic Product (GDP)
evaluated at current market prices

(B)

(C) Gross Domestic Product (GDP)
evaluated at constant market prices

None of the above

Not attempted

(D)
(E)

In a certain code language, “in the end”

means “moh fik omt”, “end is near’ means

‘omt azh epy”. What will be the code for

“near” ?
(A) moh (B) epy
(C) bod (D) azh

(E) Not attempted

4. What is the rank of Haryana among
Indian States in terms of software export ?

(A) First (B) Third
(C) Second (D) Fourth
(E) Not attempted

5. When was the first General Election of
India held ?

(A) 1948 — 49

(B) 1951 - 52

(C) 1956 - 57

(D) None of the above
(E) Not attempted

in near future” means |

3. fordf

CE1G - 25

- et i @ - o e A

yifrerar el & dehd! ?

(A) 0.4 (B) 4%
(C) 0.04% (D) 4
(E) TR

¥, SHT Hehel e 3T (Sh.Ed.)

(A) yfa =afad 3ma @@ W fefam T
gehel WT] Icatg (Sft. <t dh.)

(B) IAHH TSR Hodl G YeATeh fehdl

(C) TR IR e W geaieh fehan
Hohel ch‘,_\&q Q (:;ﬁ_z:ﬁ.tﬂ.)

(D) I & & g T

(E) ST9fad

e WET # “in the end” T 31 “moh
fik omt” 2, “end is near” T 37ef “azh moh
bod” % 37 “in near future” <A1 AL “omt

azh epy” 2 | “near’ % foa T g 7

(A) moh (B) epy
(C) bod (D) azh
(E) ISR

4. qirea Fata & qama ° e =60

YR T T o1 TAH 7
(A) T&eT (B) dET
(C) & (D) =iten
(E) 3Ty

5. MR 1 W&l T I hal 3T AT 7

(A) 1948 — 49

(B) 1951 - 52

(C) 1956 — 57

(D) 3T | & hIS L
(E) 3rrtér



The signs of abscissa and ordinalore
of a point in the second quadrant 8
respectively

(A) (= +)
(C) (+ +)
(E) Not attempted

(B) (+-)
(D) (_1 '_)

If Sin°® — cos%0 = 0, then @ is
(A) 0° (B) 45°
(C) 30° (D) 90°
(E) Not attempted

What type of signal does Integrated
Services Digital Network (ISDN) use ?

(A) Analog

(B) Digital

(C) Hybrid

(D) None of the above
(E) Not attempted

9.

Select the correct alternative that.indicates |

the arrangement of the given words in
the order in which they appear in English

Dictionary.
1. Prestige
2. Pristine
3. Prescribe
4. Prepaid
5. Premium

(A) 4,5,3,2, 1
(C) 5,4,8,1,2
(E) Not attempted

(B) 5,3,4,1,2
(D) 4,5,3,1,2

10. Which canal irrigates Gurugram and

Faridabad districts of Haryana ?
(A) Bhakra Canal

(B) Bhiwani Canal

(C) Jawahar Lal Canal

(D) Gurugram Canal

(E) Not attempted

CE1G -25

6. foeh =qufn # v fig & v aft e %

g A %
(A) (= +) (B) (+ )
(C) (+ +) (D) (= -)
(E) 3Ty

7. af sin%0—cos?0 =08, 0%
(A) 0° (B) 45°
(C) 30° (D) 90°
(E) ITSTIEd

8. e wffdm fefired eadh (3. T8 S1.TH.)
Rrg ST ¥ R 1 ST HdT 8 7
(A) TATE
(B) feisrea
(C) TS
(D) IRw & ¥ HIS T
(E) STUATHd

9. udlfased w1 94 $ifdre s fou e =

1 39 T 1 gl ], AW A SA weh
lc ol

1. Prestige

2. Pristine

3. Prescribe

4. Prepaid

5. Premium

(A) 4,5,3,2,1

(C) 5,4,3,1,2
(E) 79T

ghaEmom & e 3R wiiererg et i
o= - TE R 7

(B) 5,3,4,1,2
(D) 4,5,3,1,2




— In-charge of
Charities

— Revenue Minister

(D) Khan-i-Saman — Home Minister

(E) Not attempted
13.

Around the neck by men in Haryana ?
(A) Gulibang

(B) Kamari

(C) Mirjai

(D) Chaddar

(E) Not attempted

14. Which of the following is not true ?
2 5 5 2

X

Nid wId I w

What is the name of the woolen muffler worn
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-
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(D) EA-GHHH - T&
(E) 3Tyt
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15.  Perfetti Van Melle India 1S local
which district of Haryana ?

dgin

(A) Fandabad

(B) Ambala

(C) Gurugram
(D) Sonipat

(E) Not attempted

16. Article 21 of Indian Constitution statés

that no person shall be deprived of his life
Or personal liberty except

(A) By the President’s order
(B) By the Prime Minister's consent

(C) According to the procedure
established by law

(D) None of the above
(E) Not attempted

17. The meaning of Phulkari is
(A) A large part of villages of Haryana
(B) An art of making clay pots
(C) An art of shawl making
(D) None of the above
(E) Not attempted

18. Complete the following analogy.

*E':E

(B)

(E) Not attempted

(D) I & & I T
(E) 3TATTHd

¢ @ﬂ%lﬂaﬂﬁ%
(A) gRarom & Tl Ush ST e
(B) gl & & s hl TH =hedl
(C) Vet ST =hl Teh hedl
(D) 3T | | Hig &I
(E) STIATRC

e wewar qui i |

2] |A]- [T 2]
(A) (B)E\
©) R:7 (D)\E

(E) 3rqaiya
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What does DSS stand for 9
(A) Digital Satellite Service
(B) Direct Satellite System
(C) Digit

(D) Direct Service Satellite
(E) Not attempted

_"aib=5:7andb:c=3;g
'S the ratio ofa:c?

(A) 35: 54

22. Whatis the name of the mirror-studded ring

Worn on the right hand thumb by women in
Haryana ?

(C) Kangni
(D) Ponche
(E) Not attempted

23. Which of the following was the partner State

of International Gita Mahotsav 2024 ?
(A) Gujarat

(B) Uttar Pradesh

(C) Odisha

(D) Rajasthan

(E) Not attempted

20.

21.

23.

H ygd I 9l

CE1G — 25

oy, v, 1 419f B 7
' fsf:rraﬂ QAL gfdn
gﬁW ﬁéﬁ@‘d ﬁ‘r{ZI{
Cofree Aese T
e afda o

3l
(A)
(B)
(C)

ﬁ%a:b=5:73ﬁ'(b:c=8:9%,m
a:CEﬁTWWm 7

(A) 35:54 (B) 40 : 63

(C) 45:63 (D) 40 : 54

(

(C)
(D) 25 I
(E) 3T9TIId

gfamon & wfeenai g et 819 % S
Y 3fier STl AT T AH

R 7

(A) 3Td
(B) 3TH
(C) <l
(D) 9=

(E) Ty

=ferRea ¥ § wa-a1 stadsda i
Ad 2024 &l HF{ER TS «UT 7

=

T, ey
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‘ _ 24, tr=fefaa 4 3 g @ Tt
. e diaqrams SEET 3 - SS7)
a2 \\r.hich O' e 'U"n\'\flng F’lﬂg;:i‘p belween ? 3ﬂ-{ EI?:}HE' ::-; e~ w t{ail
o ngicates the best relations vaons ? _C\"-?ﬁ(_ﬂ ?
Quadrilateral, Rhombus, Poly3
B
(D) O (D) O O
(E) Not attempted r (E) AT
| 25.  Which of the following is a joint,venture 25. g % g et | @mﬁﬁfi‘aﬁaa
| between Japan and France located in | o ¥ -9 SH 3 HE-5 99 TH
Sonipat district of Haryana ? T ITUF B 7 |
(A) Nestle India (A) & gfean
(B) Yakult Danone India Private Limited (B) AThee S sfeat sae fafies
(C) Glaxo Smith Kline | (C) T Ty Seire B
(D) Ranbaxy | (D) et 2
(E) Not attempted (E) 3TSRIiyq oy
26.  When was ASEAN (Association of South | 26, amfaam (efo q& ufrET Tt 5 ag)
East Asian Nations) established ? | &1 T Fe E-g off 7 s @
(A) 1967 (B) 1985 (A) 1967 (B) 1985
(C) 1992 (D) 1949 | (C) 1992 (D) 1949
(E) Not attempted (E) At
27. How many times President's Rule has | 27. BN ¥ fohaft s Useufy smew s
been imposed in Haryana ? TR ?
(A) One (B) Two (A) Ueh (B) Al
(C) Three (D) None of these (C) = (D) TH | I3 &l
(E) Not attempted (E) tuyaifyq G
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28. A train travels at a speed of x km/hy for
2 hours, then decreases its speegq |,
10 kmvhr and travels for another 3
If the total distance covered is 370

then what is the initial speed of trg;
(A) 80 kmv/hr (B) 100 km/hy
(C) 90 km/hr (D) 60 km/hr
(E) Not attempted

hOUrs_
km,
n-?

29. In which year ‘Har Ghar Hariyali Y

was launched in Haryana ?

(A) 2017 (B) 2016
(C) 2015 (D) 2018
(E) Not attempted '

Ojang’

Which tier of Panchayati Raj is

responsible for rural development at the
district level in Haryana ?

(A) Gram Panchayat
(B) Panchayat Samiti
(C) Zila Parishad

(D) Gram Sabha

(E) Not attempted

30.

31. Consider the following statements about

Ajanta caves.
. They are located in the Aurangabad
district of Maharashtra. |
ll. It has twenty nine caves, built over a |
period of almost eight centuries. |
lii. Cave number 26 is very big and
entire interior hall is carved with
variety of Buddha images.
Iv. The biggest one is Mahaparinibbana
image.
Which of the statements given above is/are
correct ?

(A) Onlyiand ii
(B) Only iii and iv
(C) Only i

(D) All of the above
(E) Not attempted

CE1G - 25

28. UF &9 x fopft /a2 o nfg @ 2 92 9%
Tt 2, fR st nfy 10 farrft/deT Fy
ot R 31 arfafaa 3 92 a9 AT F
® 1 3R T H T Fer 2ft avo et 2, A
¢ Y i nfy =y 2 -

(A) 80 fwift/gar  (B) 100 fopst /e
(C) 9o ferHft/gr (D) 60 foprft /eie
(E) Imrfyq
29. E@mm # ‘w0 w ghareh @i frg a9
& 31 78 off 7
(A) 2017 (B) 2016
(C) 2015 (D) 2018
(E) 3tafyg
30. ‘ﬁjﬁﬂwnﬁﬁmwmutﬁmﬁm%%q
Wﬂﬁ’tmwﬁq-mwmg?
(A) U USRI
(B) T=ra wffy '
(C) Tren afwg
(D) T QN1
(E) 3tvanfya
31. 3ITSIAl THI3T & 91 A FEfifas s w
foam =t |
i. 9 HEWT 3 3fmere R A fRm §
ii. $HH I THE E, N TN 3
TaTfeeat &t srafy § s s § )
ii. BT T 26 IET T B 3R R
HATANH Bl ﬁﬁ@ﬁﬁmm
IH{ TS B




trict
Lol Lake 1S located in which dis
hk

~ Bad )
{ Haryand |
0) MHisar (B) Faridabad
(A) HiS
(C) Kurukshetra (D) panchkula
(E) Not attempted
| | matives
3. Choosetne figure from the given alte ey

. which the following figure is embe

(A)

{ @E@j Q@

(E) Not attempted-

f 34. Consider the following statements about
river water system of India.

1. In Deccan Region, most of the major
river systems flowing generally in the
east fall in to Bay of Bengal.

2. The river Cauvery in the southern
peninsula has the second largest
river basin covering 10 percent of the
area of the India.

Which of the above statements is/are
i correct ?

| (A) Only 1

' (B) Only 2

(C) Both1and 2

(D) None of the above
(E) Not attempted

CE1G -25

327 grfwmn % fra e d azaa e

e R 7

Sr=ffaa sl w fem = |

1. THRET &9 H g ° o84 arell ATUH
T e Yool se sl Wigl |
fidfta |

2. efioft Y # el 98 YA &
10 wferera & w1 T HA et gEl
Tad 9t TG SfE @

I | | HH-W/H FU TR 2/ 7

(A) shad 1

(B) hadl 2 1

(C) 13 2 I

(D) SUYF ¥ | i3 T

(E) mqamiyd



Ghaggar-Hakra rive 3 |
Q¢ ver basin is classifiod in

two parts, where the higher area that ig
not flooded in rainy season is called

(A) Khadar (B) Kalar
(C) Banqar (D) Banjar
(E) Not attempted

36.

The.sum of ages of A and B is 72. If they
are in the ratio 23 : 13, then find the age

of B. |
(A) 32 years (B) 46 years
(C) 24 years (D) 26 years
(E) Not attempted

37. What are data chunks transmitted over

the Internet called ? |
(A) Frames (B) Packets
(C) Segments (D) Byte".s_:-'

(E) Not attempted G 2 ‘

38. Which traditional jewelry piece worn by
Haryanvi brides consists of a 'sp'herical-
shaped ornament attached to a string of

gold ? ‘
(A) Nath
(B) Borla
(C) Koka . ‘
(D) None of the above |

(E) Not attempted

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

_bc_ca_aba_c_ca

(A) abcbb (B) bbbcc
(C) baaba (D) abbce
(E) Not attempted

39.

-10-
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&) ardt @ sl o afer mn

g - BIehl G - 2
1 ey 9 81 9

a gl af & W
eIt 1 Tl FEI ST ¢

5.

(A) W (B) et
(C) M (D) =1
(E) STy

36. A3l B 3 1 A 72 @ | 9 I
3] 1 I 23 : 13 &, T B I 31
i HIRA |

(A) 324 (B) 46 7
(C) 24 @ (D) 26
(E) 3T9Tiad ,
37. T W YA €21 I i T hal
STl & 7
(A). T (B) ¥he
(C) T (D) =TEH
(E) TSt a.

38. ToTelt Gogl g 98- STH d1ell -4
URYRER 3TYEU T A hHl T8t 9 I3
MATHT e § =91 81T @ 7
(A) T
(B) " €IRAT
(C) I
(D) 39 T A s &

(E) 315 aTRAd
39. frefefaa sem e § $© W I

ST 3TF S T faeew & &9 0 I HA A
feu e 2 | vt faseen g |

_bc._ca_aba_c_ca

(A). abcbb (B) bbbcc
(C) baaba (D) abbcc
(E) STt
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40.

and ‘D' means ‘X', then the value of
18A12C6D2BS IS
(A) 15

(C) 17

(E) Not attempted

(B) 25
(D) 45

41. Whois popularly known as the ‘Swang
Samrat’ of Haryana ?

(A) Harish Kataria

(B) Pandit Lakhmi Chand
(C) Baje Bhagat

(D) Ali Baksh

(E) Not attempted

42. An article is marked at ¥ 3,000 and is sold
ata 40% discount. If the shopkeeperincurs
a 10% loss on the cost price, then what
was the original cost price of the article ?
(A) X 2,000 (B) 2,100
(C) 1,800 (D) ¥ 2,250
(E) Not attempted i

43. The Chalukyan style of architecture is the

unique synthesis of which of the following
styles of architecture ?

(A) Dravida and Nagara styles
(B) Dravida and Kalinga styles
(C) Nagara and Hoysala styles
(D) None of the above

(E) Not attempted

44. What does the computer do with the input
received ?

(A) It deletes the data

(B) It processes the input and generates
output

(C) It sends the data to another computer
(D) None of the above
(E) Not attempted

-11-
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I Tal ‘.1 . oA o] ' D i "o
1A' means '+, ‘B’ means -, ‘C'means - AO. e A v vy 8, 'B' 1 3§

C'#1 a1 ' R, D 3w R, A
18A12C6D2B5 1 71 8

(A) 15 (B) 25

(C) 17 (D) 45

(E) 3rsrnfir

BTN & ‘@@ gy’ F 9 8 P
HT R 7

(A) &ltw swerfan

(B) ufed et =g

(C) o™ Wi

(D) 3reft sy

(E) 3mvariya

Tsh %] T T 3,000 3ifehd 8 31 98 40%
<l P W == A1 & | I GHEGR
AT el T 10% 1 &1 &t B, @ aeq
1 FRAITH TG Jod =T AT 7

(A) T 2,000 (B) ¥ 2,100

(C) T 1,800 (D) T 2,250
(E) 3t9Tiyd

T Srdehent et frafefaa o @ feg
aregehett el @1 rfgdfia deeigor @ ¢
(A) gfas 3R R A<k

(B) gfas 3R swfem i

(C) MR 3R Bggat Aeh

(D) SWa | | P

(E) AT

T §YE o6 Y HRLT FAT HT & 7

(A) & 21 h! BI@T

(B) ¥E YL ! WEH Hal & 3N AP
S T &

(C) 48 221 T gEX Hegel T Nerell B

(D) 3w # A H 7

(E) Itwaniyd
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e reares cﬁququﬂmﬂﬁzﬁﬁ"‘ﬂf@rﬁzﬁ
any times in a day, are the hands 45. U f:dﬂﬂ3ﬁ —Eﬁ;ﬁ g 7
of a clock in Straight line but OpPposite @l o elfef fagitd
direction ? A) 22 (B) 24
(A) 22 (B) 24 o - (D) 48
(C) 20 (D) 48 ©)
(E) Not altempted (E) AT
6. Which number wiy come in the place of | 46. fFfeTitad TEar s@en § y¢A =@ (7) %
que‘stlo’)n mark (?) in the following NUmber M W A~ ge A 7
series 1
3.5,9, 7,33, 65 3 51 90 1,55, 69
(A) 13 . (B) 15 (A) 13 1 (B) 15
(C) 17 (D) 19 (C) 17 (D) 19
(E) Not attempted (E) 39t
47.

What is the significance of the ‘Peeliya’ a7. BN & fErst § difear stedt &1 |
Odhani in Haryana’s Customs ?

| HEed 8 7
(A) Worn during marriage ceremonies (A) ﬁl?ﬂ%’“ TET % 2R 8 '_I a8
. . | (B) GeeH, T 36 THU dTell & g
(B) Givento al'_blf_ide by her in-laws foemr St 2

(C) Sent by parents to their daughter
after the blrth of a male child

(C) \chg:i % . 9Ig 9 HI IGF
T - fﬁm?mﬁmm%

(D) HHHA T3 o BRI 5 S T&T
(D) Worn dunng harvest festivals “ z
NI
(E) Not attempted (E) m&m
48.  Which of the following is not a storage 48. fr=tefas Er q -1 =i feagg
device ? By 3 :I'EDI% ?ETY

(A) Compact DISk (CD)
(B) Solid-State Disk (SSD)
(C) Memory card

(A) wﬂa‘e fewp (T )
(B) wifeTg-w feuw (vm.ug 2.)

(C) HHRY 1S
(D) Monitor (D) -;ﬁ‘ﬁa
(E) Not attempted (E) 3t

49. The value of (0.3)%is

49. (0.3)° T O 2
(A) 0.27 (B) 27

(A) 0.27 - (B) 27
(C) 0.027 (D) 0.0027 (C) 0.027 (D) 0.0027
(E) Not attempted E) 3ty

-12-
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vho among the followinQ Haryanvi

as known {or Ghazals in Hind

QiNQers Was :
Snema dunng the 1930s and 1940s

(A) >ohrabai Ambalewall
(B) Lata Mangeshkar

(C) Noor Jahan
(D) Kishor Amonkar

(E) Not attempted

51. The sum of digits of a two-digit number
is 11. If the digits are reversed, then the

new number is 9 more than the original
number. What is the original number ?

(A) 56
(B) 68
(C) 45
(D) 54 2.
(E) Not attempted

52. What is the average of first 40 natural |

numbers ?
(A) 19.5 (B) 20 |
(C) 20.5 (D) 40 l ‘

(E) Not attempted

53. What is the relationship between HCF
and LCM of two numbers aand b ?

(A) HCF + LCM =a +b
(B) HCF xLCM =a + b
(C) HCF x LCM =a x b
(D) None of the above

(E) Not attempted

-13-
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50. fa=ifaftaa g st 4 7 #19 1930

3N 1940 % eurehi o 7 faemn o o
é%fi‘mtrmﬁ?lﬁ‘% )

aﬁﬁ@ﬁ@%aﬁmﬁmﬁ%l

tEn & T e o wfuF & | AEIEH

ffffffff

52. UW 40 WThiaeh TEATAT 1 A T4
Fll ?
(A) 1,9'5 (B) 20
(C) 205 (D) 40
(E) e

53. <l a@naﬁ a 3 bk H.€.9. IR «1.9.9.
& S T HEY B 7

(A) H.9.9. + .99, =a+b

(B) I[,'Hq x .89, =a+b

(C)TT'H":I xAHYUY. =axb
D) I H { Frd Al

(E) SIPRIEE



S5.

(D) None of the above

Which of the following famous battle was
fought in Sirsa district of Haryana ?

(A) Battle of Thanesar

(8) Second Anglo-Sikh war

(C) Battle of Gujarat

(D) Battle of Chormar

(E) Not attempted

Which of the following are the primary
components of a computer system ?

(A) Central Processing Unit (CPU),
Monitor, Software and Cloud Storage

(B) Operating System, Software,
Hardware and Intemet

(C) Central Processing Unit (CPU),

Memory, Input/Output devices and
Storage devices >

14

-
e
B

|'!u--tq‘.-- ¥

!

(E) Not attempted

56.  Which computer was built at Cambridge

S7.

University in 1946 ?
(A) Universal Automatic Calculator
(UNIVAC) 1

(B) Electronic Delay Storage Automatic
Calculator (EDSAC)

(C) IBM 701

(D) PDP-8

(E) Not attempted

Who among the following was the first
Indian-origin woman to travel to space
and was born in Karnal, Haryana ?

(A) Sunita Williams
(B) Santosh Yadav
(C) Manushi Chhillar
(D) Kalpana Chawla
(E) Not attempted

.
=

£
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55.

S6.

57.

=

-y 1

E i e
. -

(D) mﬁﬂﬁﬁ%aﬁiﬂﬁ :
(E) AugTHd

1946 H hitsra favaiaane™® 4 sia-4

Y TR AT AT ?

(A) JHEES IS gl (UNIVAC)

(B) 3o feat WS 3FicHH
$epeiel (EDSAC)

(C) 1BM 701

(D) PDP-8

(E) ywaniyd

F=iciaa # @+ safe f 3 =@
el TSl WA gt 6 wfgen oft 3k
SRt S BREmon % e o gan o o
(A) g faferns

(B) HAIN ATCH

(C) wigd forew

(D) e AT

(E) 39T




.
F:‘ osch 1S given in the altematives will
s 1 iete the patiom i the figure given In

B i I ———

(C) E o ‘E!

(E) Not attempted

58. The Sheetala Mata Fair is organized in

(A) Gurugram ' s (A) qu'
= 2 " (é}
(B) Jhajjar ﬂ (B) ST L
' h‘l - J : 'F' 3 :—'h_-.‘ﬁl ¢ \
(C) Ambala \AN  f(C) e b ), |

o -. *a. ,_-"'I i ..,; f V (
(D) Kamal [\J | oy
.yfﬁ ‘

‘I'1- . & M K
Yy | B/ (©) LD
(E) Not attempted

(E) sTvafaa

60. Angles of a quadrilateral are in the ratio

- | 60. UF TG % HIVI T I 3:4: 4 :
3:4:4:7. Find the smallest angle. o > !

(A) 20° : .;. 2 .mmwmw |
(®) 60° AR
(C) 80° (B) 60° ‘;;ﬁ J
(D) 140° (C) 80°  p.
(D) 140° v

61. drg a7 "9 @ foru fopm Iqehtor w1 Iugm

61. Which instrument is used to measure the

wind velocity ? Rt e & 7
(A) Odometer A)
(B) Thermometer i ATt

(C) Anemometer
(D) None of the above
(E) Not attempted

©) vtz
(D) 39 ¥ &g el
(E) 19anfaq .
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- - L3
" — o e i e i, = T i A e Pl A . gl e SR G ey M . -

6 oy A 3 I 222,500 3
2. f\nanc? and Deepak started a businegs g2. a 1 Fra ek oraard I8 |
'nvesting X 22,500 and T 35.000 735,000 QILR g 219sh Bl frm
respectively. Out of a total profit of ¥ 13,800 * 3
X 13,800, Deepak’s share is fepel m / ¥ 7.200
(A) 5,400 (B) 7,200 (A) 3 A0 - 9’600
(C) ¥8,400 (D) ¥ 9,600 (C) ¥ 8,400 (D) £ 5
(E) Not attempted (E) 3T i
' = freft @l @i 10 e
63. 1f6 men and 8 boys can do a piece of 63. afe 6 qeq d 8 s EFI'Ef 3 el
work in 10 days and 26 men and 48 boys H % dhd & e 26 3% 9 ol
¢an do the same work in 2 days, then the #1382 fea 3 & Hehd %, ?ﬁ'15 gey
time taken by 15 men and 20 boys to do 3R 20 TTgh 34 HA P F A
the same work will be gug 1l ?
(A) 4 days (A) 4T
(B) 7 days | | (B) 7%:{
(D) 8 days h|; (D)8 R
(E) Not attempted | " (E) STt
64. Consider the following statements about 64. Siearyg % Tiffeptur & ¥R H fAetaiad
classification of climate. ST 9T fo=arR ==L |
1. The most widely used classification 1\11(:' 1Y <hl qad 9k &9 9 31?3111?—[

of climate is the empirical climate l
classification scheme developed by

fﬁ»ql STH STeAT SfieRTr <ft. shiga gl

V. Koeppen. , NEEIECRERIRICIICEUEE S SE IR
2. V. Koeppen identified a close EFﬁW(UT RIEEI
relationship between the distribution | 2., U 7 Ffa 3R NNEIR| < Taa
of vegetation and climate. & S gfiss gey <l g |
Which of the above statements is/are IRiE B | HH-T1/A B T /B 7
correct ? ‘
- (A) Had 1
(A) Only 1
(B) Only 2 (B) A 2 |
(C) Both 1 and 2 (C) 1 3R 2 I
(D) None of the above (D) IUYeRT H ¥ his el
(E) Not attempted (E) TR




cal
okt the WOITACT sequence of mathematic 65,
e given equation correct.

EQuation : 216 + g+ 8§ « g4 + 48 = 500
A) - X+ (B) + & X, -

C) X, ¥« - (D) x, 4, = +

(E) Not attempteqd

©8. Where is Chokhi Ohani situated in

66.
Haryana ?

(A) Panipat

(8) Kamal

(C) Sonipat

(D) Kurukshetra
(E) Not attempted

87. Consider the following statements about

Constitution of India.

i. Article 48 envisages States to provide
free and compulsory education.

Il. The Parliament of India brought
86™ Constitutional Amendment Act in
2006.
lii. Through 86" Constitutional

Amendment, Article 21A is inserted
iIn the Constitution.

Iv. Right to education is 3 fundamental

rnight for children between 6 to 14 years |
of age.

Which of the statements given above are
correct ?

(A) Onlyiandii
(B) Only i, ii and iii
(C) Only iii and iv
(D) All of the above
(E) Not attempted

-17-
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nhrlta fawl @ ad wn afo @ o e

® wieenfta &0 g gfiwo 7 g8 T
U |

AHITFAU1: 216 + 6 + 8 + 64 + 48 = 500

(A) +, = %, + (B) +, +, X, —
(C) %, 4, +, - (D) X, +, = +
(E) amwanfa

ghamn 4 Sl el wri fRa R
(A) Tt

(B) T

(C) |iftud

(D) Fear

(SPEERUEE

Wi gfoum & sR o fmafafag sy
W o= = |
. AT=VT 48 T=A =1 Fuyew aiix
FfarE e wem s @ 6 afesean
ERGIR

ii. 869 Hifaut e TuT % qreaw §
Hiau H 3g=de 21A Wits T
TR |

v. Ta o1 sfrer 6 | 14 ad R g
T=ai & fore us A arfoer @

I QU T HeRl W A DR o R 2

(A) IS | 3N ji

(B) had i, ii 3N i

(C) Had i 3N iv




83,

70.

ra”

¢ 30 marks, while ANothay

<% of the Marks

)O1s ore than Passing Marksg
What is the total marks for the exam ? |
(A) 300 (B) 400
(C) 300 (D) 600

69.
'€Presents 5 Straight line 7"

(D) None of the above
(E) Not attempted

-

The seasongj river Markanda originates
from which area of Haryana 2

(A) Aravali Hills

(B) Shivalik Hills

(C) Rajasthan Plateau
(D) Yamunanagar Forest.

(E) Not attempted

Where is Maharana Pratap Horticulture 71.

University located in Haryana ?
(A) Sirsa

(B) Jhajjar

(C) Sonipat

(D) Karnal

(E) Not attempted

CE1G - 25

fapaft uftedn 0 v IEZAT 20% HE Urs
F03 F A2 30 HE A FLA A AAL P
safa gan aftzan A1 32% FF U T
_m. 41 Afa® 93 2 |
2, 34 Thl H 42 FF
' N s i .
qfien % fFaq 3301 1 2 7

(A) 300 (B) 400
(C) 500 (D) 600
(E) JrwamiHd

freferfa § & F-m F v F
@1 &1 gatafass w241 2 7
(A) X°+ y* =25

(B) 2x+ 3y =6

(C) y,=_x2+4

(D) 39T § & =73 78

?0. =fEmwn s e 83 F T 58 e

 THeddl 2 7

(A) TSI

(B) Twranferss weifeat



|
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72, Match the tollowing.
National Parks/
Wildlife Sanctuaries

a. Cordett National
Bark i. West Bengal
. Sunderbans
National Park
¢. Bandhavgarh
National Park
d. Sariska Wildlife
Sanctuarnies iv. Madhya Pradesh
a b c d
(A) 1 v i i
(B) i i v i
(C) i ‘i Y 1
(D) v i il
(E) Not attempted

States

. Uttarakhand

. Rajasthan

-

(A) Yamuna
(B) Ghaggar
(C) Ganga | .
(D) Markanda SR
(E) Not attempted Lo

e~

74. The common difference of the Arithmetic
Progression —, “P, o
PP i
A) —1 -
(A) (B) 1p oy
Gy 4 — '
(C) (D) =

(E) Not attempted

75.  Which of the following Project of Haryana
IS Inspired by Great Green Wall of Africa ?

(A) Shivalik Green Wall Project .
(B) Chandigarh Green Belt Project
(C) Aravali Green Wall Project |

(D) Haryana Forest Rebuild Project
(E) Not attempted

-19-
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72, fpafafia @ apfea i

JARUA .
a. Wi T FAT . T W

b. TewH T IAH i, ITUES
c. Eivang UL 34T I

4. wfe =T IR v, e 9T
a b c d

(A) i v i

@ i i v i

(Cyiii i v

(D) iv i i I

73. <imh 7 fova 7@ i v HeEs TR 7

(A) FFT
(B) T

(C) T« .

| , -
P P P

3
B) =5

1
(D) 5

(A) =1

(C) 1
(E) ARG

75. i@ 6K F=afaiaa 7 9 S - af@msm
AT o U M afa Q@ i @ 2

(A) TRrartetes A e giEs
(B) TgiTg HH e qiEsHl
(C) 3! WA ater qisHI

(D) &N aw gafiaiur gieiem
(E) 3tuanfyq

-
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Oj E uage
in :E:t:;::)(o 0. 76 ang 7): Fil : nﬂ"‘-h__Lﬂng Fill in the blank with the correct
aDDnopﬁme baragrap yc:ho 0 blankg alternative. seen |
Qiven b © altematiye m th >SINg the mqg, for my pen. Have you seen jt 2
The Slow j € alternativeg '(E) will look (B) looking
the .ﬁ:;ﬁi?' Alanta ang Ellor (C) look (D) am looking
goes there'b covorks of sy ture. Wh ~\76) (E) Not attempted
— (";7)?193 Spell bg nd. T ouzzvzr ¢ antonym of the
Urists ‘ Nds Choose the correct an , :
ear. Visit
YOar- One cq Stay in th gue;‘tesguplaces Svery following word from the alternatives given
76, (A) is t below it.
©) 1 (B) was Blooming .
© (D) were (A) Mid (B) Flowering
(E) Not attemptegq (C) Quite (D) Fading
77. (A) for (E) Not attempted
(B) from _
(C) of (D) at Choose the correct meaning of the
llowing idiom or expression.
) Not attempteg 2?;2?;;”5;022 i
- \ ‘,; (A) To ifind one’s roots
8. Choose th P\ A | (B) To'return to place of rest
€ Correct (TS \ L |, ; Y
following alternative;)s:_SDEIt I_Wor d from the » (C) Back to original position

79.

80.

(A) permanant
(C) parmanent
(E) Not attempteg

(B) befmenent
(D) permanent

eXxpression

A period of ten years. [ -

(A) Decade (B) Century
(C) Pioneer (D) Cavalry

(E) Not attempted

Choose the correct Synonym of the

following word from the alternatives given
below it. -

Ultimate
(A) Beginning (B) Famous
(C) Final (D) Victory

(E) Not attempted

-20-

(D) To emphasise
(E) Not attempted

Fill in the blank by choosing correct

alternative from the alternatives given
below it.

He was born 1945.
(A) on (B) at
(C) in (D) for

(E) Not attempted

Choose the correct alternative to fill in the

blank with appropriate active or passive
verb forms.

It since yesterday.
(A) is raining

(B) have been raining

(C) has been raining

(D) was raining

(E) Not attempted
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R R G IER S INGERE R R

§7. TE SR I GEA A I8 T FHEA 7 7

(A) =
(B) =1
(C) et
(D) =1
(E) Fwamda

88, ‘IEEl TS 9NVl WIS &, SHHI
TEaTEs 93 =4 9T |

(A) HAIGH
(B) 3TiHIaA

90. ‘@l 9B SR g ot 9T 319 Wd dsal
2 7 | g2 fHa 9 &1 3EW 8 7

(A) HIF ATH
(B) BIdA a1

(c) Taiza ar
(D) =49 A IS T2
(E) #A9gTiAd

fg=il W

o1.

94.

CE1G - 25

..ﬂqmmmﬁmmé
a7 ,vagam%ammaﬂm%?

(A) oI TP
(B) 3701 AP

“YHR T AR Wl 39 ArepIRT 1 Tl
GO S

(A) TTell 9379 ¥ $© HET & =01 2 |
(B) TeI&T hl UHTUT shi STEIIhdl gl |
(C) A= his <TH BT |

(D) TR A & 3= A Tl & |
(E) Ayantda

ST Ieg GHT AT G- hl faRiwaT €4dmq &,
32 T had & 7

(A) &Ih

(B) fsrar famigur

(C) feram

(D) fagrgor

(E) ryarfad
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ERORRI R es W » 08. fﬂﬂfﬂf@ﬂ M LA s e e o4 M 1 qatgars

T RN W [y Bl, 30 W ey g 9 g AT |

RSN G (A) T

(B) i e (@) ahe

(C) wiwu e C) o

(D) %ﬁ—%@mw D) e

(B) I9aiyg ()’ st
%--f‘m’m%z@maﬁwl g0, WA # ‘el R’ A FAN A & 7

(A) @ﬁé;gﬁrﬁg_ﬁ (A) 14 fadsT

(B)Wﬁmﬁaﬁ[mmwdmuq l&‘ (B) 15 ST

(C) Erra-aa:; . (C) 26 ST ..,

- eﬁ@’m?ﬁsﬁmﬁw \ y \ b y

(E) 3uamfaq- (E) STITRI
OF. ‘3T W TR Te wER w wd o | 100 www, 3, s, @, s anf v e

gHT | _ e ¥ it o E 7

(A) 39T "&'Iﬁ & T (A) f%l“éwﬁa‘rw

(B) <& I a?ﬂ?ﬂ | | (B) G==TEIH

(C) & fere =T | | (C) Teausu®

(D)@mﬁqM| (D) foram o

(E) 3ty (E) T

o~ -22-




